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En = 6k + 105 - B4 :
n=70F": a=1+4+7+4+1
b=2+5+6+3
c=3+6+5+2
n=130: a=1+4+7+10+13+10+7+4+1
b=2+54+8+11+12+9+6+3
c=3+6+9+12+11+8+5+2
n=19%: a=1+4+7+10+13+16+19+16+13+10+7+4+1
b=2+5+8+11+14+17+18+15+124+9+6+3
c=3+6+9+12+15+18+17+14+114+8+5+2
BRetilla=14+44+74+104++n-34+n+n-3+--4+10+7+
4+ 1> H bR 2k JAIE4HZE a WYAT 2k THEIESI0 1 > 18 2k + 1IEAIGE 2
a % 2k + 1 THEIASE 1 - ¢ BUAT 2k IRIGHE a BYRT 2k TRHERS N2 0 &
2k + 1 THANEHIE a HY1& 2k + 1 THETERIR 2 > NEELESRHIZE » cHYiR
B—IHAZ 2 » ik 1 - R EZREATOR

L @hAD[2X1+32k+1-1)]
2

b=a+[2k—Qk+1)]=a—-1=12k*+ 4k

—(6k+1) =12k?* + 4k + 1

c=a+2QR2k)-2Qk+1)+1=a—1=12k? + 4k

En=6k+3F n=32k+1) HILET1 2 3WEHETER 2k +

1> HELEHEET a b c #EHR 32k + 1)% < BHIGER > & n =158

T~ 2~ 3 A 5 - £ 1577 Al k = 2 A 32k + 1)* 7[5

3k +1)>=3x5>=75 At a *b - c HMEE R 75 > TRHESIF G

Hig o &HR—KRZET5 -
a=1+4+74+10+134+14+114+8+54+2=75
b=2+4+5+8+114+144+134+104+74+4+1=75

c=3+6+9+12+15+12+9+6+3 =75



3. En=6k+50F  Bfl:

n = 5% : a=1+4+3
b=2+5+2
c=3+4+1
n = 11HF : a=1+4+74+10+9+6+3

b=2+5+8+11+8+5+2
c=3+6+9+10+7+4+1

n =17 : a=1+4+7+10+13+16+15+12+9+6+3
b=2+5+8+11+14+17+14+11+8+5+2
c=3+6+9+12+154+16+13+10+7+4+1
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= 12k? + 20k + 8

=4k + 3

b=12k* +20k+8+ 2k +2) — (2k + 1) = 12k? + 20k + 9
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a-b - cHIER3@2I+2)?=3x4* =48> [Alta b - cHIEE 48 > M5
HoET R R - SR -
a=1+4+7+10+11+8+5+2=48
b=2+5+8+11+10+7+4+1=48
c=3+6+9+12+9+6+3 =48
Em=6l+ 2K EHREFIA 2m - 1EET > 5451 2 3 FESR

H&H -
20-1  2(61+2)—1

3 3 =4l+1
m = 8iF : a=14+4+7+6+3
b=2+5+8+5+2
c=3+6+7+4+1
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m = 100F : a=1+4+7+104+7+4+1=234

1
:(4l+2)+§

b=24+54+8+94+6+3+0=33
c=34+64+94+8+5+2+0=33
m = 16H% : a=1+4+7+10+134+16+13+10+7+4+1 =86
b=2+5+8+11+14+15+12+9+6+3+0=85
c=3+6+9+12+154+14+114+8+54+24+0=285
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FATLAR (/) Rl - KM(11,3) » {ER(Z)FEn =6k +5 -m =3t +2- 15
ERETRL-32-13-2 gEi/c LAY 3 x 3 RS 1 UG8 E
HFy 3 dmtis Ry 2 TR ERR 1> SRS & 3 IVTREIS 2 - g a ERAE
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P AR RIS By EHORRA] - 515 KM (n, )BT a ~ b~ cBY{E > 7]
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1. En=6k+1-m=6l+30F

n=6k+1 n=6k+3 n=6k+5
1-2+2-3(1-12-2|1->32->1
HEAET
3-1 33 32
m = 3t
1-32->1(1-12-21|1-22-3
AT 32 33 3-1
1-12-2]11-32-1(1-22-3
Vs
AEET o, 352 351
m=3t+1
1-12-2|11-22-3(1-32->1
AT 3-3 301 302
1-32->1]|11-22-3(1->12->2
HEET
302 301 3-3
m=3t+ 2
1-22->3|(1-32-11|1-12-2
AT 3-1 32 3—-3
Fz (=)

a=(12k2+4k+1) —-3Ql+1)? - 6L+ 1)?-3Q1+1)2 -1

= 12k? + 4k — 481* — 481 — 12

b = (12k? + 4k) — 3(2L + 1)? — 6(21 + 1)% — 3(2L + 1)?

= 2k* + 4k — 481% — 481 — 12
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c = (12k2 + 4k) — 3(21 + 1)2 — 6(21 + 1)%2 — 3(21 + 1)?
= 12k? + 4k — 481? — 481 — 12
BEn=6k+1-m=6l+60%
a= (12k? + 4k + 1) — 321 + 2)? — 6(21 + 2)?—3(21 + 2)?
= 12k? + 4k — 481?> — 961 — 48
b= (12k? + 4k) — 3(21 + 2)? — 6(21 + 2)2—3(2L + 2)?
= 12k? + 4k — 481?> — 961 — 48
c = (12k? + 4k) — 321 + 2)?> — 6(21 + 2)? — 3(21 + 2)?
= 12k? + 4k — 481?> — 961 — 48
En=6k+1-m=6l+10F
a=(12k?*+4k+1)— (122 + 41+ 1) —2(121> + 41+ 1) — (121> + 41 + 1)
—1=12k?* + 4k — 481> — 161 — 4
b = (12k? 4 4k) — (1212 + 41) — 2(1212 + 41) — (121% + 41)
= 12k? + 4k — 481? — 16l
c = (12k? + 4k) — (1212 + 41) — 2(121% + 41) — (1212 + 4])
= 12k? + 4k — 481? — 16l
En=6k+1 -m=6l+40F
a=12k*+4k +1— (1212 + 161 + 6) — 2(121?> + 161 + 6)
—(1212 + 161 + 6) — 1 = 12k? + 4k — 481> — 641 — 24
b = (12k? + 4k) — (1212 + 161 +5) — 2(121> + 161 + 5) — (12I1> + 161 + 5)
= 12k? + 4k — 481? — 641 — 20
c = (12k? + 4k) — (1212 + 161 + 5) — 2(121> + 161 + 5) — (1212 + 161 + 5)
= 12k? + 4k — 481? — 641 — 20
En=6k+1-m=6l+2H0F
a=(12k*+4k +1)— (1212 + 81+ 1) —2(121> + 81+ 2) — (121> + 81 + 1)

—1=12k*+ 4k — 481> =321 -6
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b= (12k? +4k) — (1212 + 81+ 2) — 2(121? + 81+ 1) — (121> + 81l + 1)

= 12k? + 4k — 481> — 321 — 5

Q
I

(12k? + 4k) — (1212 + 81+ 1) — 2(1212 + 81+ 1) — (121> + 81 + 2)
= 12k? + 4k — 4812 — 321 -5
En=6k+1 -m=6l+50F
a=12k*+4k +1—121> — 201 — 8 —2(121> + 20l + 9)
— (1212 +201+10) —1
= 12k? + 4k — 481> — 801l — 36
b = (12k? + 4k) — (1212 4+ 201 + 9) — 2(1212 + 20l + 10)
— (1212 + 201 + 8)
= 12k? + 4k — 481> — 80l — 37
c = (12k? + 4k) — (1212 + 200l + 10) — 2(121%2 + 20l + 8)
— (1212 + 201 +9)
= 12k? + 4k — 481* — 80l — 35
En=6k+3 -m=6l+30F
a=12k* +12k+3 -4 x 321+ 1)?> =12k?* + 12k — 481> — 481 — 9
b=12k? + 12k +3 -4 x 321+ 1)?> = 12k? + 12k — 481> — 481 — 9
c=12k* +12k+3—-4x 321+ 1)?>—1=12k? + 12k — 4812 — 481 — 10
En=6k+3 -m=6l+60F
a=12k* +12k +3 —4 x 3(21 + 2)? = 12k? + 12k — 481> — 961 — 45
b=12k? + 12k +3 — 4 x 3(2l + 2)? = 12k? + 12k — 481> — 961 — 45
c=12k* + 12k +3 -4 x3(21+ 2)?> — 1 = 12k? + 12k — 481> — 961 — 46
En=6k+3 -m=6l+10F
a=12k* + 12k +3 — (1212 + 41+ 1) — 2(121% + 41) — (121% + 41)
=12k + 12k — 361> — 41 + 2
b=12k?*+ 12k +3 — (1212 + 41) — 2(1212 + 41) — (121> + 41 + 1)

= 12k + 12k — 361%> — 41 + 2
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10.

11.

12.

13.

c=12k? + 12k + 3 — (1212 + 41) — 2(1212 + 41 + 1) — (1212 + 4]) — 1
= 12k + 12k — 361*> — 41 + 2
En=6k+3 -m=6l+40F
a=12k*+ 12k +3 — (1212 + 161 + 6) — 2(1212 + 161 + 5)
—(1212 + 161 + 5) = 12k? + 12k — 481> — 641 — 18
b=12k?*+ 12k +3 — (1212 + 161 + 5) — 2(1212 + 161 + 5)
—(121%2 + 16l + 6) = 12k? + 12k — 481> — 641 — 18
c=12k*+ 12k +3 — 121> — 161 — 5 — 2(12[*> + 16l + 6)
—(1212 + 161 +5) — 1 = 12k? + 12k — 481%> — 641l — 18
‘En=6k+3-m=6l+20F
a=12k?+ 12k +3—-1212 -8l —1—241> — 161 —4— 121> -8l — 1
= 12k? + 12k — 481> — 321 — 3
b=12k?+ 12k +3—121? -8l —2—241>—161—2 —12]1> -8l — 1
= 12k? + 12k—481?> — 321 — 2
c=12k?*+ 12k +3—-1212 -8l —1—-241> — 16l —2—121? -8l -2 -1
= 12k* + 12k — 481> — 321 — 3
‘BEn=6k+3 m=6l+50F
a=12k*+ 12k +3 — 121> — 201l — 8 — 241> — 40l — 16 — 121> — 201 — 10
= 12k? + 12k — 481%> — 80l — 31
b =12k? + 12k + 3 — 121> — 20l — 8 — 241> — 40l — 20 — 121> — 201 — 8

12k? + 12k — 481% — 801 — 33

= 12k? + 12k + 3 — 121> — 200 — 10 — 241* — 40l — 16 — 12[> — 201 — 8

a
|

= 12k? + 12k — 481?> — 801 — 31
‘E=n=6k+5-m=6lF
a = 2(6k? + 10k + 4) — 4 x 3(2L + 2)? = 12k? + 20k — 4812 — 961 — 40
b=2(6k?+10k +4)+1—1—4x3(2l + 2)?

= 12k? + 20k — 4812 — 961 — 40
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14.

15.

16.

17.

c =2(6k? + 10k +5) — 4 x 3(2l + 2)? = 12k? + 20k — 481?> — 961 — 38
En=6k+5-m=6l+3HF
a = 2(6k?+ 10k + 4) — 4 x 3(21 + 1)% = 12k? 4 20k — 4812 — 48] — 4
b=2(6k?>+10k +4)+1—1—4 x3(2l + 1)?
= 12k? + 20k — 481> — 48] — 4
c = 2(6k?*+ 10k +5) — 4 x 3(21l + 1)? = 12k? + 20k — 481% — 48] — 2
En=6k+5 -m=6l+ 1%
a = 2(6k?+ 10k + 4) — [2(612 + 21) + 1] — 2 x 2(61% + 21) — 2(61% + 21)
= 12k? + 20k — 4812 — 161 + 7
b=2(6k*+10k+4)+1—1—-2(61%+201) —2x2(6l*+ 2])
—[2(612 4 21) + 1] = 12k? + 20k — 4812 — 161 + 7
c = 2(6k? + 10k +5) — 2(61%2 + 21) — 2 x [2(61% + 21) + 1] — 2(61? + 21)
= 12k? + 20k — 481> — 161 + 8
En=6k+5-m=6l+4H1F
a = 2(6k?+ 10k + 4) — 2(61%> + 81 + 3) — 2[2(61% + 8l) + 5]
—[2(61% + 8l) + 5] = 12k? + 20k — 481%> — 641 — 13
b =2(6k?+ 10k +4) + 1 —1 — [2(6l? + 81) + 5] — 2[2(61% + 8]) + 5]
—2(61% + 81 + 3) = 12k? + 20k — 481%> — 641 — 13
c = 2(6k? + 10k + 5) — [2(612 + 81) + 5] — 2 x 2(61? + 81 + 3)
—[2(61% + 8l) + 5] = 12k? + 20k — 481%> — 641 — 12
HEn=6k+5 m=6l+20F
a = 2(6k? + 10k + 4) — 4[2(61% + 41) + 1] = 12k? + 20k — 481%> — 321 + 4
b=2(6k*+10k+4)+1—-1—-4x2(6l>+4l+1)
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